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10.

OR(3721d)

Explain hexadecimal to octal and octal to binary
conversion with the help of suitable examples.

RIS RITa &1 3ifacd 3R 3idced I
IR H ®UTARYT &I SFId Sarexvl &1
TEradr 9 gusiy |

Draw logic-diagram of Full-Adder and write its
truth table. 6

Bad-—UsR & difTd—su™ & Raa sk
3D gI—dTfeTdl Bl ford |

OR(3721d)

Explain the operation of 3-input TTL NAND gate.

3—g9Ye TTLNAND e & uRdra+ &1
ATAT BN |

Simplify the Boolean function.
F (A,B,C,D) =M (2,4,7,13,14) . d (1,5,6)
by K-map method.

qferast waaa

F (A,B,C,D) =M (2,4,7,13,14) . d (1,5,6)
®l K-A9 fafer gRT aval &Y |
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2019(Even)

Sem. IV - EC Engg
D.E -1
Full Marks :70

Pass Marks : 28

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Explain the following terms -
(1) Demultiplexer
(i1) T - flip - flop

frr=forRaa uel &) =T s —
(i) feacdimiaar
(ii) T - FelU—%elq

6. What do you mean by POS expression ?

POS 3rfircafad & 3y a1 99sid @ ?
OR(3121dT1)

Explain the following terms -
(1) Fan - out
(11) Figure of merit

frr=forRaa uel @) e &R —

(i) HT—3TST
(ii) R 3ffwe dARe

N4069

N4069

(i)

(iii)

(iif)

(iv)

(11101, =(___ )y
(1) 27
(@) 28
(|) 29
(€) 25

1621401

In.eennne. region, transistor is switched

off.

(a) Saturation

(b) Cut-off

(c) Active

(d) None of these

.................... a9 #, ¢iforexr sq &8l

SITdT © |

(31) AgREHA

(d) dc—3iT®

(&) Cfdea

(]) 379 4 ®Ig T8N

Spacing of sleepers depends upon :

A _ 9
B%Y |
C

(a) (A+B).C
(b) A+B+C
(c) A.B.C
(d) (A+B).C

P.T.O
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(xx) MOD - 14 IS BT oo Fefla—

FeIlq B ATaTghdl Bl 2 |

(a1) <=

(@) IR

@) <0

(%) uta

GROUPB

Answer all Five Questions.

i 9fg gl & SR ©

2. Explain weighted and non - weighted codes.

d2s 3NN d9—des DS I AT BN |

4x5 =20

OR(3721d)

Explain NMOS inverter circuit.

NMOS gacy ufRuel &1 ATET B |

3. Subtract 10 from 40 using the 8 - bit 2's complement

arithmetic. 4

8—fae 2's dftadic BTNV &1 STAT B
8T 40 ¥ 9§ 10 &I eI |

N4069

(vi)

(vii)

(vii)

(viii)

5 1621401

frr=fafaa & 9 &9 g9 98 2 |

(3 A+A=2A

@ A+1=A

@) A+1=A

(&) A+0=0

A is a group of four 1s which is
used in k - map.

(a) Pair

(b) Quad

(c) Octet

(d) None of these

___________________ IR 1 DT g © o k-
A7 A yygaa fear smar 2|

(31) 9=

(@) @drs

(|) siface

(]) =9 A &I 20 |

IfA=1,B=1, C=0 then maxterm is .........
(A)A+B+C

(b) A.B.C

(c)A.B.C

(dA+B+C
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(xvi)

(xvii)

(xvii)

10 N4069
b [ | BT K5 S UPpR & BId 2 |
(@) <1
(9) <
(|) 9ar
() ur=
J-k
D— — Q.,IfD=1,
FF then .............
(@J=1,K=0
b)JI=1,K=1
(©)J=0,K=1
(d)JI=0,K=0
D— ;Fk —— Q, MR D=1,2
S ghar 2 |
@) J=1,K=0
@ JI=1K=1
@) J=0,K=1
() J=0,K=0

(xviii) Master - slave J - K Flip - Flop uses ............

.......... S - R Flip - Flops.
(a) Two

(b) Three

(c) Four

(d) Five

N4069

x)

(xi)

(xi)

(xii)

7 1621401

fr=fafaa & 4 @9 T9-—d9Rs
qIgueR difeie @

(@) RTL

@) TTL

(W) ECL

(@) D.T.L

The basic DTL gate is ........cccceeunee.n.
(a) NOT - gate

(b) NAND - gate

(c) AND - gate

(d) OR - gate

................... Hiferd DIL 7ie 2 |
(31) NOT - Ie

(d) NAND - i€

(d) AND -1

() OR-Te

A CMOS is obtained by connecting
MOSFET in series.

(a) Two p - channel

(b) Two n - channel

(¢) A p - channel and an n - channel
(d) None of these
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11.

OR(312raT)

Explain 4 to 1 line multiplexer and write its truth -

table.

49 1 A3 Ay & AT $R IR
D AA—dIferdT &l ford |

Prove that .
(1) AB +éB =AB +AB_
(1)) AB + AC = (A+C) (A+B)

arfad eR—
(31) AB+ AB=AB +AB
(d) AB +AC = (A+C) (A+B)

OR(3721d)

Write short notes on any two of the followings -
(1) Boolean Algebra

(i1) Digital logic families

(111) Sequential circuit

frafafaa ¥ 9 52 <1 w "fdra we
forg —

() feras sidprfora

(i) fefvrea «ffore wiafe

(iii) Rreafraa afee

Heskok

N4069 17 1621401

11.

OR(3127aT)

Explain 4 to 1 line multiplexer and write its truth -
table.

4 9 1 A3 Gy & AT $R IR
39 GA—dIfeTdl dl ford |

Prove that B
(1) AB +éB =AB+AB
(i1)) AB + AC = (A+C) (A+B)

arfad d¥—
(3) AB+AB=AB +AB
(3) AB + AC = (A+C) (A+B)

OR(372rd)

Write short notes on any two of the followings -
(1) Boolean Algebra

(i1) Digital logic families

(111) Sequential circuit

frfafaa 4 9 f& <1 wr G@fdra e
fod —

() feras sidprfora

(i) fefvrea «ffore wiafe

(iii) RreaRrae afee

Heokok
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